Math 1432

Bekki George
bekki@math.uh.edu
639 PGH

Office Hours:
Mondays 1-2pm,

Fridays noon-1pm
(also available by appointment)

Class webpage:
http://www.math.uh.edu/~bekki/Math1432.html
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7. Let f'be a positive function. The area bounded and the x-axis

from x=1 to x=51s 21/5. F1 1s function.
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8. Find the area of the region bounded by f(x)=vx and g(x)=2x,
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9. Given that the centroid of a region is (4,12) and its area is 5, find the
volume of the solid formed when this region is rotated about the x-
axis.

Theorem 7.5.1: Pappus’s Theorem on Volumes:

Suppose a solid is created by revolving region € in the plane around
any axis, such that Q does not cross this axis. Then the volume of the
solid is given by:
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Where R is the distance from the centroid of © to the axis of

revolution and 4 is the area of the region &
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Set up the formulas that will give the volume of the solid formed when R is
rotated a) about the x-axis.
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c¢) If R is the base of a solid such that the cross sections perpendicular to x-
axis are squares, set up the formula for the volume of that solid.
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11. Set up the formula that gives the arc length of the following curve:
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13. Given that 10% of a radioactive substance decays in 5 years, give a
formula for the amount of Substance in tgerms of t if the initial amount
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14. The population of a bacteria culture increases by 20% in 10 hours.
What 1s the doubling time? What 1s the population in 24 hours if the
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15. Determine if the followiverge or diverge. If they

converge, give the limit.
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16. Determine if the following series (A) converge absolutely, (B)
converge conditionally or (C) diverge.

L S 5 oy by BST
o0 (_ )n+1\/_ V\"\"’b {l . 3
. N (e CONNAP
0 23 ks Y Mﬁ S dwerges







= ctan Tr(Hﬂ
g 2 3+n +n 2N +n®

0 lps. O,tmverq(@vo\-

S 0/67\\/1(03(\&%

(wﬁ “\H\é SN e

(Vwﬂ/lf’(‘/




oo n n __B \
Z(—l) Z’ B Ay
*k. Lt 3542 3N+
M‘VLM(W\OKUU‘( CAON - Dot
10” \DU\ \DWZ o° \D\/n n?'/n
*1. Z 2N =0 2N \(LE_%; 3
&jog.o,b'nw(@«)\?L m\s-‘oﬁjre&;yfsz)
Y\ (oot
= (-1)"3" 3 5o R SRS
m. Zz, ol nt WD'Y@{Q (ne) 3™
o <. cﬁfmfuctd\“‘— o =
“Vi\fg; ne =0 <)




(")




5ol over wls poskd QCO‘L Corre s

18. Find the radius of convergence and interval of convergence for the

following Power series: ‘ Y ) N Vi \X g) | ])
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19. Give the derivative of each power series below, and

cach series, give the antiderivative F of the power series so t13L t
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20.

Determine the convergence or divergence for each series
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21. Suppose f(x 2(2 . Give the 13" derivative of f at x = 0.
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23. Give Taﬁlor series f'xlpansmn for f(x)=In(x) centered at 1.
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24. Give Taylor series expansion for f(x)=sin(3x) centered at 0.
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Taylor Series of the Exponential f(x) = e*
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25. f(1)=-1, f'(1)=2, f"(1)=-1. Give the 2" degree Taylor polynomial for
fcentered at 1.
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26. Give a value of n so that the Taylor poiynomlal of degree n for
f (x)=sin(x) centeredgt 0 can be used to approximate (07) within
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Know — Graphing polar curves. Converting polar form to rectangular form
and vice versa. X =CosB, )= Csunb Xzﬂyzrz

Set up the area:
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e) Inside the curve and to left of the y-axis, ¥ =4 +4cos6.
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27. Find the equation of the tangent and the normal lines to the
parametric curves at the given points:
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30. Give a parameterization for the line segment from the point (1, 6) to
the point (-3, 1).
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